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Candidates are required to give their answers in their
own words as far as practicable.

1. Answer any ten of the following: 1x10=10
frefeie @-@ie wit amw Ted nle

a)  What is copula?

WSS e
b) If E proposition is true, then its
corresponding A is , Lis
O is
T E o7 797 2 O 20T A B [z
0= |

c) Represent Everything is 'P' by Venn diagram.
1 452 'P-92 IFHE (eibra weEiie 31|
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d)

g)

h)

i)

k)
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Fill in the Blanks : Universal proposition
distributes the

HZl el K ARG o AT 2|
What is Null class?

IS (=9 e

Is the following True or False?

A>(B>C) has a truth table of 8 rows.

A> (B> ()92 AR FepEde o A
RISISN

Name the figure in which 'EAE' is valid mood.
'EAE' JfE (@ AT 74 ©OF i (&7 |
What is contrary proposition?

[EREISREGIEC TR

Write down the Boolean equation for 'E'
proposition.

'E' IR AR AN (14 |

What is the obverse of 'There are no white
Elephants'?

A gfe @297 @fSe @ 0

Do all categorical propositions have

Existential import?

] fTReerE e & fes e Sz



1)  When a conjunctive proposition is true?
FCATEE ool FA TG 27 2

m) What is self contradictory statement form?
FO N IBAIFIT FICF 0T 2

n) Mention the rule of syllogism in violation of
which there occurs Existential Fallacy?
W (I 7 G w9101 AlfgPol (1T 232

0) What is the complementary class?
ARsFS (@l 52

2.  Answer any five of the following: 2x5=10

frEfRe @i Aok amim Ten nis ¢

a)  What is meant by distribution of terms?
AW oFel B F @[ie

b) Give an example of an argument which
commits the fallacy of illicit Major.
SI(3Y A (I B @I e Twizael wie |

¢)  Determine the truth value of '(p > q) v q' when
P is False.
P el 2 '(poq)vq' - @ FoRE el |

d) What is opposition of proposition?
P [l e F @R
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g)

h)

What is the Negation of a tautology? Why?
G FoIG A [erm AW [Fe @R (2
What is truth functor or truth-operator?
AT (G FICF T2

When two statements are called logically

equivalent?

I 4o AFE PR (TGl s @l
27?

If A and B are true statements and X is false

statement is the following statement true?
[(A-X)v(~A.~X)]2[(ADX).(X>B)]

WM A @R B 99y b4 @R X L) 69 T O
fCHT IaB7 Terfen e 341

[(AX)v(~A~X)]2[(ADX).(X>B)]

3. Answer any two of the following: 5%x2=10
frsfeis @I gio 2o Ted wie ¢

a)
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Use truth-table's to determine the following
statement forms as tautologous, contingent

or self contradictory: 25+25=5

oIy, e a F-RCAH:

[4]



b)

i) (p.q)>(qvr)

ii) p:)[p:)(p:)p):l

What are the differences between Exclusive

disjunction and Inclusive disjunction?
[EHRIGRCE RS EER IR o I REo O ICY

What is meant by 'Mode ' of syllogism? Is
there any fallacy in the following syllogistic

forms?

TIEd A ere F @R e s
HERSECS (S (- 20AC2 SCEY A

i)  AEE-2
ii) A3 14+2+2

4.  Answer any one of the following: 10x1=10
frefeie @i b amE Ted e ¢

a)
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Explain with illustrations the nature and rules
of conversion. Transform the following

sentence into logical forms and convert them.
1)  Children are always cowards.

1) Some women are musicians.
2+5+3=10
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b)
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RISCICE I G I CRRSIG ISI RN I = AN CA
AFMOT SHRWITHS TP FAERS SR
TRfSe w4

i) e <@ S
i) fog wfze sErem |

Use truth-table to determine the validity of
the following arguments: 5+5=10

TPIRAR MR e Yfewhn @ael [k
<Fq:

i) (p>q)-(q>r)
~pv~q/s~qvVvr

iiy Uo(VvWw)
(V.W)o~U/o~U

Test the validity of the following syllogisms
by means of Venn diagram: 5+5=10

CeAbtad AR MHlele i Srmef (el
IEREISEE

1)  All that glitters is not gold. Tinsel

glitters. Hence Tinsel is not gold.

712 HFOF A ©IRI2 @l 77, Tinsel 56
I, o4k Tinsel (AT 3 |
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ii)

No Republicans are Democrats, So
some Democrats are wealthy men, since

some wealthy men are not Republicans.

(I ASTSTRIZ NTeF 13, oK Fg siere
o, P19l g 47 s 7 |



